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2. Without using a calculator, simplify the following.
Leave your answers in index form.

a L,

b. (-9 x (-5)7
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3. Evaluate the following without using a calculator.
Write the answers as fractions.

128 1 L
a} 5 X 5 e b} 6w 67
7 B
C} W ............................ {n"jg)g
{39 m
e} 38‘ » ?i‘g f}
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3o

— "
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o (107 x 1077 . ]
o () R —
4, a) Write the number 0.001 as:
e 1
(Dafractionoftheform 7 ...
(if) a fraction of the form %}m ...........................
(iiiy apowerof 10
b} Rewrite the following as powers of 10.
(i) 0.1 (i} 0.00000% e
(i) 0.001 (oo G99 1 reeeerereninrseneerenas
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5 Each of these identities are incorrect.
Write a corrected version for each one.
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6. Match each expression to its simplified form.

15hbc

10¢
3b
15bc X 2b £,2
3B2
iﬁ 2
15h¢ X 2) Se
&b*

7 Fillinthe %Gﬁsg so that each expression is
equivalent to 2b when simplified.

105°
8b = 2b
— = 2h
) 2b% % .
gi%’s%é}—"g{ }«:««Zg} W@“%;ﬂ?
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8. Fill in the missing indices in these fractions.
The first one has been done for you.

oz
a) 47 me
) =
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